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QUESTION 1

In the OpenFlow network switch model, the underlying data channel opens the flow table\\'s public API to the outside
and uses the SNC to control the entire network.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 2

Which of the following statements are true about the meaning of the peer 20.1.1.2 allow-as-loop 2 command? (Choose
all that apply.)

A. The local AS number can be repeated in the AS_Path attribute in the received routes.
B. 2 indicates the number of times the AS number can be repeated.

C. This command can only be used on EBGP peers.

D. By default, the number of times the AS number is allowed to be duplicated is 1.
Correct Answer: BD

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100008283/14418f9d/peer-allow-as-loop

QUESTION 3

The SFUs of the NE4OE-X8A used on an SDN network employ which of the following redundancy methods?
A 11

B. 1+1

C.2+1

D. 3+1

Correct Answer: D

Reference: https://actfornet.com/huawei-net/core-router.html

QUESTION 4
Which of the following is the port number used by VXLAN packets?

A. 4786
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B. 4787

C. 4788
D. 4789

Correct Answer: D

QUESTION 5

Which of the following statements are true about the comparison between OSPF and 1S-IS? (Choose all that apply.)
A. OSPF runs on the IP layer, and IS-IS runs on the data link layer.

B. For IS-IS, a router belongs to multiple areas, but in OSPF, a router can belong to only one area.

C. DIS election in IS-IS is simple, preemptive, and can be predicted. DR election in OSPF is unpredictable and non-
preemptive.

D. OSPF supports P2P/P2MP/NBMA/broadcast networks. 1S-IS supports only P2P and broadcast networks.
Correct Answer: AB

Reference: https://learningnetwork.cisco.com/thread/123472
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